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%% = - 2,500
08 5803091080000 7,885, 000 - 7,885, 000 1,075, 000 64, 180 721, 849
B AR EH - = 353, 151
Mk L EMEFAR WHEE ‘7L‘ &M s arg30 FEp AR : 112/5/3




EHTLEENA

&t Btk

¥ #3E
PERRII2HFIAIBZ11244A308 Fan o MR
# i H # AT H HATR
BIAEH FoTath e AARAK 2 Be3 R
_ . : (5)=(1)-(2)-(3)-
2 die s E i+
8 0 () 24 SRR R oae | moeaim )
|| 8|6 A 1 # & 3 mE =L ,
E-TfHA A 30 2 M AT #(3)
SHAT —_— i (AARHK)
iy H3H A S %G (4
B TAE A EE #g#4)
01 5803091080100 7, 885, 000 7,885, 000 1,075, 000 64, 180 721, 849
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5% % = 353, 151
08 6303091080000 803, 000 803, 000 194, 000 = 176, 839
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WA RILEX = 782,173
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02 R0 SR R - = = _ il
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30 B ARILAX = — _ - _
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R ] — _ m _
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A ARPA 3% - = = - -
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AR BT 4, 358, 290
Bt — AR A A -3, 345, 98
% i B IE SR 5,031, 155
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2 IR A 15, 429, 71
B3t % — s -7, 985, 071
BMEE 14, 875
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A 1. 148, 145, 295| & 1,148, 145,295
# % th e
1R AR HA A1 A AR A -
178 5 [ 42 % -
1R & 3. 208, TO0]| A& 44 %35 % 3,208,700
if 5 2 {14 4 4 £ A 75 0 =

>

hFE Ik - arf30  ZEpBHA  112/5/5



FH L EE A
BN X &

B¥:%1E
PERBII2HE1A1BE112448308 B MERET
4 %8
#t B 7
AA# 2t
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